
set 420 AREA:  olmert  start=287008 cyl size = 385 numrows
= 16 numcols = 8  comp = 1.280000e+002 pvalue=  0.0050000
(1,1)

5/24:04xdhd`nik5/24:04

5/24:11iyxy`dz`5/24:11

5/24:19zwvxxivw5/24:19

5/25:04exeyicak5/25:05

5/25:11`piyncgi5/25:11

5/25:19dkidl`zp5/25:19

5/26:05ieecblvr5/26:05

5/26:12zpyxyrnd5/26:12

5/26:16kyz`died5/26:17

5/27:03pzklvx`f5/27:03

5/27:10eiwgxy``5/27:10

5/27:20n`yz`aie5/27:20

5/28:03kedz`cya5/28:03

5/28:11kizazzll5/28:11

5/28:18kphaixte5/28:18

5/28:25qptleide5/28:25

      771 hxnle`
      385 pxwyd

          2 ny`i
          1 ltp


